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&R IZIE K4 FRIE 50m 30m #AF 10 X =3
1| 1D | KB BEEERER |TERHASK 215 293 508 4 3

2 | 1A [BEEH ER BEHTIHE 202 228 430 4 1

3| 1B [t BHR A E SR 135 209 344 3 1

4 | 1C [ZR E* A RS 100 192 292 1 1
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IERL  IZIE K4 FilE 50m 30m AF 10 X 5
1| 3C |FE *7% FERASK 272 308 580 9 2

2 | 3B |[fHE = WREM7HE 253 304 557 11 4

31 3A |8 EPN NFRET7HE | 259 257 516 4 3

4 | 3D [KR# /N FERMEKR 244 272 516 4 1

5 | 2C |FRih = FERPFK 227 282 509 7 0

6 | 2B [feB R%h B _RT7HE 218 285 503 5 2

71 2A [RL !X ™ 7 ie 196 274 470 5 3
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1| 4A [tk EBEEF |[{EAFAC 329 312 641 26 5
FriE 50m@ 50m®2 &5t
1| 4C L IEF TET Ha 309 283 592 10 2
& 3Z)E FRiE 60m@® 60m2 At
1| 5A [ w&Eo “EHRFER 185 181 366 0
2 | 6A [R “EHRER 135 170 305 1
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1| 5D [BBO ®# ZERER 280 256 536 8 2
2 | 6B WA %2 mRMT7HE 259 265 524 4 3
3 5C |JI% BrE “BHRER 214 225 439 2 1
41 6C [kE BERE “EHRER 197 224 421 2 0
5 | 6D [dtig {E¥E ZERER 186 201 387 1 0
6 | 5B |[feR E B ATHE 192 184 376 2 1
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1| 7A [[AR =& FERAFK 270 249 519 4 0
2 | 7C |BK %E FERZMNSK 231 255 486 9 4
3| 7B |[hFEHEH,ZTDED |TEEMNSK 234 237 471 3 1
4 | 7D |EBE HXE FEIZMSK 195 206 401 9 1
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IERT  IZIE FRlE 70m@® 70m® X
1 [11B |%)Il #i— NFR\T7H= | 308 294 602 14 3
2 | 8A |[kA b FERARH 301 288 589 18 5
3 |11C [H#HE B FERZMNSK 289 292 581 8 3
4 [10 A |aK i B _m7T Be| 295 285 580 10 1
5 [11D [KB =i FERMER 256 279 535 11 1
6 | 9C [BR BE FIRER 268 266 534 8 1
7| 8C /NIl =K FERMEKR 269 261 530 6 2
8 |10B [HO 1==3f FIRER 260 243 503 4 3
9 |10C [AF ® FERMSKR 235 262 497 8 3
10| 9A |/NE HBE mERT7HE 249 242 491 4 0
11| 8B |IA& B3} FIRER 239 191 430 2 1
12| 9D |HE EXEE |[TEEANSK 204 212 416 2 1
13 |11 A |[EEE Ih BEHTHE 162 219 381 1 1




